American Truck and Rail Audits, Inc.
November 2016 Brain Teaser

The Shocking Truth

Unscramble each word and place each letter in the corresponding boxes on the right.
When all the boxes are full, then unscramble the letters in the grey boxes to find the
answer to the question.

WHY COULDN'T THE TRAIN ENGINEER BE ELECTROCUTED?

RTACK I:I | | |:|
TUERO L | | |:|
BEKROR D:EI:I | |
GIDSIN |:| | ‘ | |:I
cosmien [TTT 11

BECAUSE HE IS:

. . mmal  American Truck & Rail Audits, Inc.
There is only one correct solution. é'
Find the solution for this brain teaser at — AMTR
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